World Cup 2015

Amitis a big fan of cricket. His friend Subham challenges him to guess the total score at some
points in an inning of an ODI match. If his guesses will be correct he will get a chance to watch
the world cup final in MCG. Now, Amit being a big fan of cricket don't want to miss this
oppurtunity. So, he first analyse some previous matches and comes to following fact: on an
average, in a 50-over inning, a team plays 120 balls for singles, 30 for doubles, 30 for fours, 10
for triples, 10 for sixes, 10 for loss of wicket and leaves remaining 90. Now, he tells you this fact
and asks you to tell the expected score. Being a very good programmer, your task is to maximize
Amit's chances to win this challenge.

Note : 0,1,2,3,4,6 and wkt are the only possible outcomes of every ball bowled in the inning.

For those who are not familiar with cricket game : An over consist of 6 balls. Inning ends if
either overs are finished or team has lost all the 10 wickets.

Input

There is a single positive integer T on the first line of input. It stands for the number of queries.

Each query consists of an integer N which stands for over number at which you need to guess
the team total.

Output

For every query output the expected team total in a single line. Format for total: runs/wkis.

Note: print the nearest integer to the decimal.

Constraints
1<=T<=10

1<=N<=50

Sample Input:
2
1
2

Sample Output:
8/0
16/0
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